[ Efficiency vs vertpos |

~ 0.5

1072 10t 1 10 02
TP vertr (cr%)

—=— DQM_TT _original
Efficiend —e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24

—— DQM_TT__mod_modelsdeep_something3
~ 0.5

$0.45

[

> 04

>

2

£0.35
03

0.25
0.2

0.15
0.1

0.05

effic

-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>

0.0.45
S

o 04
£0.35

&
c 0.3
2
Q

..................................................

..................................................

....................................

D
TT T T TTTT

=
T
e

09557215 10

Sim. PV z (cm)



	Contents
	Page 1


